POGIL: Boyle’s Law
Name: ______________________

Model 2 – Gases in a Flexible Container
Experiment E (Reducing the external pressure on the gas)
Note: Volume in this model is recorded in “units” rather than liters because 4 molecules of gas at the conditions given would occupy an extremely small space. The particles shown here are much larger compared to the space between them than actual gas particles.
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1. Consider the gas samples in Model 2.

a. Name two materials that the containers in Model 2 could be made from that would ensure

    that they were “flexible”?
b. What is always true for the external and internal pressures of a gas in a flexible container?
2. Complete the following table for Model 2:
	
	Experiment E

	Independent Variable
	

	Dependent Variable
	

	Controlled Variable(s)
	


3. Explain why a nonflexible container is necessary in Experiment B. In your answer, consider the external and internal pressure data given in Model 1.
4. Name the two factors related to molecular movement that influence the pressure of a gas.
5. Provide a molecular-level explanation for the increase in volume among the balloons in Experiment E. (How often and/or how hard are the molecules hitting the sides of the container?)
6. If Experiment E of Model 2 were done in a nonflexible container, would there be any change in the internal pressure of the flask when the internal pressure was reduced? Explain.
7. Determine the relationship between pressure and volume. Use evidence from Model 2 to support your answer.

